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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’,

"FVIEC
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9

BrE) | GEBATK (F)) | ERE (BEAH/K) = R

07:05 283 150.0 M| FHAe07:05 KENFZEF (RAA{REE)
07:55 283 150.0 f| FHR@07:55 REMIEHF (RALER)
08:45 283 150.0 M| FhHRe08:45 KENFEF (KRHAEREE)
09:45 283 150.0 M| FiHAe09:45 KEFEFE (KREEREE)
10:45 283 150.0 M| FHR@10:45 KRHMIEHF (RALESR)
11:40 283 150.0 fI| FiHAe11:40 RHMIEF CRAKLES)
12:30 283 150.0 R FiHRe12:30 FEIEF (GRAMEREE)
13:20 283 150.0 5| THR@13:20 KRENFERF (RFA1EREEEE)
14:15 283 150.0 5| THRe14:15 KREHFEF CRATERRESR)
15:15 283 150.0 5| TiHje15:15 RHEEF (CREAERSE)
16:35 283 150.0 5| THR016:35 KENFERF (RFE1EREER)
23t 3113.0 (110%) 1650. 0 3Z03%EC: 2080.0, PH: 6.0

REREBTEC (2700.0) 5igZEEC (2000.0) REK K, HHE




FRV (ml plant-1)

ET (ml/hr/plant)

P3-9_0, Day=42 (2025-05-14)
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P3-9

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

05:50 294 150.0 (& =| 1BRi%@05:50 Bzh (REERESE)
06:55 294 150.0 (Z=| {Ri%@06:55 HEI (FEAHERHSE)
07:45 294 150. 0 E 1BRi&e07:45 Bzl (GRAEREE)
09:20 294 150.0 S {Ri%@09:20 B3 (KRAERSE)
10:30 294 150.0 El 1BRi%010:30 Bz (GRAERE)
11:15 294 150.0 =l {Rige11:15 B3 (GRAERSE)
12:00 294 150.0 E BRige12:00 Bz (GRAEREE)
12:45 294 150. 0 E| {Rig012:45 Bzh (GRE{ERSE)
13:25 294 150.0 F BRige13:25 Ba1 CGRAERSE)
14:10 294 150.0 Sl Rige14:10 B3 (RAERSE)
15:00 294 150.0 (Z=| 1BRige15:00 Bzh (REERESE)
16:05 294 150.0 |Z=| 1BRi&e16:05 Bzh (REERESE)
24t 3528.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

FEREHEM 8 STHAEARS (191.0 : 153.0), AIREMAT—@E XFHE
ZRIASEPRERE153. 0 ml.

large discrepency for begining water status (322:120.0), set to 322 ml.
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=41 (2025-05-13)
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P3-9

BrE) | GEBAK @) | ERE(EAH/K (XS R

06:50 294 150.0 (Z=| {Ri%@06:50 HzEI (FEAHERHSE)
07:45 294 150.0 (& =| 1BRiB007:45 Bzh (KREEREE)
09:10 294 150.0 FA| 1B2i%@09:10 B3zh (kAB{EREEE)
10:35 294 150. 0 FA| {Ri%@10:35 Bz (GkAEEE)
11:35 294 150.0 FA| {Ri%@11:35 Bz (GRAEEE)
12:25 294 150.0 FH| 1BRige12:25 Bzl (GRAERESE)
13:25 294 150.0 FA| 1BRi%@13:25 Bzh (RAERESE)
14:20 294 150.0 FA| 1BRi%@14:20 B3h (RAHERSE)
15:20 294 150.0 FA| 1BRi%@15:20 B3h (KRAHEREE)
16:45 294 150.0 FH| 1Ri%e16:45 Bzh (KAERESE)
21t 2940.0 (10)%) 1500. 0 3203 %EC: 2080.0, PH: 6.0

FEREHEM S STEAERS (191.0 : 147.0), AIBERT—@E XFHE
FRIAEPRIEBRE147.0 ml.

large discrepency for begining water status (260:90.0), set to 260 ml
REXEEBIEC (2610.0) SiZTFEEC (2000.0) REKR K, HHEE



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=40 (2025-05-12)
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